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SLOPE OF A LINE CONNECTING TWO POINTS
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: O Find the slope of the line passing through the points A(6,—1) and B(3, 4). (Similar to
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POLL QUESTION-01
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~ What is the slope of the line passing through the points A(2, 7) @<R
- B(-1, 13) ?
§ A
X, I A -6 m= =3
/ 2 AY-
: 7-1% C 2
W = -~ ~ D 6 ™ = :j 1~ =
- AB L~ Q-l) V4 kl" L
_ =6 Mmoo 32794
& '"K..L"' ll
X
& m i L Higher Math
U s a5 o o Chapter 11 : Coordinate Geometry




SLOPE OF A STRAIGHT LINE

———————————————————— SIS mmmm e ———————

L The tangent (tan) of the inclination angle of a line with\positive X axis)
~is called the slope or gradient of a line (m).
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POLL QUESTION-02

———————————————————— SIS mmmm e ———————

The angle of inclination of a line is 135° to tthrEgative X axis, \what will be

' ?
its slope: m= tean 0
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O The coordinates of the three points A, B and C are respectively (2, 2), (5, 2) and (2, 7).

Draw_the lines AB and AC on the Cartesian plane. If possible, find the slopes of the lines

AB and AC. (Example: 16)
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POLL QUESTION-03

-------------------- SIS e mm— e m -
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QO Find the value of p if the line joining the points A(3 3p) and B(4, p“ + 1) has slop@

, (Exercise: 5) —
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SLOPE OF COLLINEAR POINTS / PARALLEL LINES
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O Show that the points A(0,—3), B(4,—2) and C(16, 1) are collinear. (Exercise: 3)
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X/
: 4 If the point @ (t,2) and C(t?t + 3) are collinear, find the admissible value of t.
5 (Exercise: 4)
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POLL QUESTION-04

-------------------- SIS mm e mmm e m -

The slope of line PQ is 2 and RS is a line parallel to PQ. What is the slope of line RS?
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: Q A(t,3t), B(t%, 2t),C(t — 2,t) and D(1,1) are theifour different points} If the lines AB and
' CD are parallel, find the admissible value of t. (Example: 19)
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 Prove that the points A(a, 0), B(0,b) and C(1, 1) are collinear if % + % = 1. (Exercise: 6)
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